B AYKEIOY AATEBPA

[Tepopopoi: i) x>0

= log (4x)'°gz+'°g& =logl = (Iog 2+log &) logdx =0 =
— log/x +log2=0 f log4x =0

= Iog(2«/§)=logl n log4x =logl

= 2Jx =1 f 4x =1

219X 1.3.49% — 52

[lepopopoi: 1) x>0

= 2log*+3-22°9* _52=0

0étw 2°“ = >0 kun ekicoon ypdoeton :
0+30°-52=0 = 30’ +0-52=0

4

X, =
1425 /71
Ny

A = 625 0)1’2 = 6

13 .
X,=——<0 omoppinteton

Apo: o=4 = 2% =2% = logx=2 = x=100

neplopiopoi : x>0

x>0 X

X X
In| = :In\/;:> —=\/; = —=X =
(2] 2 4
= x(i— j:O =
4
= X=0 oanoppinteTon M X=4 deK

[epopiopoi: i) x>0



i) logvx =0 = x =1

2log x + -6 =

Zlog x
5 g

= 2Iogx+i=6 = Iogx+iz3
log x log x

0éto logx=w=0 «oin e&icoon ypdoeton :

0#0
(0+E=3 = 0*+2-30=0 = 0*-30+2=0
0]

®, =2
3+

2\

0, =1

A=1 o,=

Apa
0=2 = logx=2 = x=10° skt 1 o=1= logx=1= x=10  §ext



